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If A earn 20% more than B. How much % B earn less than A ?

afz A, B 20 (G e & A wATER AT B, A ey sfirora

(a) 20%
(b) 16.66%
(c) 25%
(d) 10 %




If the radius of a circle is in creased by 25%, its area in creased by:

AT Tk FTATRR <kl TISAT H 25% Y Fleg bl AT § AT TR AT (eha Tfa9Td
qE ATEMT?

(a) 50%

(b) 28.125%
(c) 25%

(d) 56.25%




If the radius of a circle is de creased by 10%, then what will be the
percentage decrease in the area of circle?

afe ueh T 1 BT § 10% <t wft Ay et 2, 9 99 o6 St | A
9T <hi SHHT B2

R=—\°7

(b) 20 %
(¢) 21 %
(d) 23 %




If the length of a rectangle is decreased by 20% and breadth is decreased by

40%, then what will be the percentage decrease in the area of the rectangle?

Tfe ek ATId 1 TS | 20% hl HHT hT ATAT 3| TAT TISTS W 40% <kl THHT
T ST 2, A7 3T o AT § forae Ufdore hT wHT g

s =-Uov.

(a) 48 %
(b) 52 %
(©) 60 %
(d)40 %




11 tNEC 51aC 0 4 CUDC IS 1 Creasc Dy 4V 7o, UICII WilATU WIiL DC UNC Perécntage

increase in the volume of cube?

TfS Teh T ST ST H 20% <hT Teg hT AT &, AT I oh ST | feheld Tfa9Ta it
g B2

c

P

(a) 60 %
(b) 66.6 %

(d) 68.5 %




When a number is increased by 24, it becomes 115% of itself. What is the

number?
el TRt SEAT | 24 BT Fieg <hl AT & AV o€ T AT 115% BT AT 3| T

T 82

_\oo/- +US =118V
\J)r\,\sd( Do = \2° kg \e—~>

(a) 16W

(b) 250

(c) 200

(d) 100 4



Price of sugar increases by 30%. If expenditure increases by only 10%, then by

how much percent consumption should decrease?

AT o qed | 30% <Y qhg Tl 51 AT 0 haet 10% W F@aT ¢ al Tud | feha
TfcroTa <hY AT EITT?

0/o U\Mf—
(a) 14.29
(b) 13.68

(d) 16.54




£295AaVed 14 /70 UL 11IS HICUIIC. 11 S1IC HPCIiIU 49104140, LU HICT WOLAL LIICULILC 1D

A 31T 3T <hY 12% TIST Serd shid ! 2 AT 98 £2,16,128 T F{dT 8, AU
6T THA AT &:

\oo 7 \& /. b6/ (a) 2,43,560

56M oo — (b) 2,42,063

(d) 2,48,000




The price of sugar is increased by 17% A. person wants to in crease his

expenditure by 7% only. By what percentage, correct to one decimal place,

should he reduce his consumption?

At =it o T | 17% Y qhg 21 et T 3R 1S safvh oo @<l § hae 7% hi
& qfeg AT TTEAT & A I WU § FeRe WiroTe Rt HHT At BRI

_ \Rerd O
Q\@o&\r\c& B¢ =
\ g0 Y. \ T/ 3
~ i (a) 8.1%
o+ 7,
of
¢ =8-S (b) 8.5%
(c) 8.3%

(d) 8.7%



A is 25% more than B and B is 40% less than C. If C is 30% more than D, then
by what percent is A less than D?

A, B ¥ 25% 3Aferer 8 3T B, C A 40% A 31 T2 C, D T 30% 3AF 2, aTA, DI
foRar afaeTa A 82

< D

A > .' ' \o0O/
s \AREP. IOV OB (a) 1.5
1% %)ﬁ(i de R -M
(c) 4

d) 5



The price of an article is cut by 10% To restore its original value, the new

price must be increased by

Tk & oh! hIHd | 10% Y T 3 AT g1 TUAT Hed JTE AT o6 1o7¢ foha
TfaeTd & gig T ATMRT?

— \o0o /.

(a) 10 %
(b) 7.11 %

(d) 9.09 %



In an election between two candidates, 75% of the voters cast their votes, out
which 2% of the votes were declared invalid. A candidate got 9261 votes
which were 75% of the valid votes. Find the total number of votes enrolled in
that election.

F TEEaRY 25 s Uk T , 75% FeETATait ¥ arer se e, R 42% )
FIC A T ohY [T 7T Ueh STHIEAR ahi 9261 Wa T8t ST Ser wat &ht 75%

ofT| 38 AT | ATHIfehd WAl hl THeT HEAT 1A I 1T
" Towﬂ\}@"i \otes =

(a) 16400
(b) 16000

(d) 17000




A man spends 60% of his income and saves the rest. What percentage of his
expenditure does he save?

U JTTIHT STUHT 3T T 60% el HIAT & R FTeh! hi =i ohidT 81 I8 70 T
T fera= UfaoTa aerd ShdT 82

AT Sowe
nCmn 60 -/ wWo /-

\o© VW

(a) 72.57%
b) 83.19 %
(¢) 66.66 %
(d) 69.49%




The price of motorcycle depre ciates every year by 8%. If the value of the

motorcycle after 2 years will be Rs. 84640, then what is the present value (in

Rs.) of the motorcycle?
Uk HieX ATfeheT o o § ek T9 8% ohT BTH BHAT gl TS 2 T¥ A18 WX
TTSTRET T o 84640 TUX T, AT WIS ATSIRET T TaHH Hed (T H)

T B2

)
o
(a) 90000
(b) 102000
(c) 110000

(d) 100000






